waaaga W [0P A

PROFESSIONAL & HIGH QUALITY

wEpEER DS =]
EER R DS-IR =]
waiEeR ps-Rp ==
L EIE ey LT DS.IRN ===
5
B 5 DS-1 \ DS-1R \ DS-1RD \ DS-1RN
= il = ®12+16+~20~25+32~40+50 6380 100
[Ed H i £ BEIEAZBMEZER (HE8REE)
ERENEE kgflom’|# 8| ©12~16:05~99 / ®20~25:03~99 / ®32~100:0.5~9.9
ifid B2 7 15 kgflcm?
= B &R E & -5~ +70 °C ( FHEAE)
fil = ] =1 HE®
HE: ki
DS-1 12 N 30 - A - T - A 2
| | | | | | | |
B 3% miE | EE | TR | ABOR| BFRE  BEER BE
[ [ [ [ [ [ [ [
S 120 Q121 | N : g | | 1K 12 % A: T - T KT11R | |1:118
l,];l ps.1 | | 161 @16 \—‘ FRRE 30mm TN 2:2f8
20: ®20
= 25: ®25 J—
1 32: B3 B: Al
l DS-1R 40 : ®40 50mm
: 50 : ®50
Z 63 : ©®63
DS-1RD 80 : ®80
‘ 100: ®100
DS-1RN
FELAE BAETTRE (mm) RATTE
®12~ 16 5,10,15,20,25,30 65
20 5,10,15,20,25,30,35,40,45,50 130
®25+3240 50 * 63 ~ 80 ~ 100 5,10,15,20,25,30,35,40,45,50 130

* JERREITIEN RS  FHREFAER -

® 45-01



@ Tor AIr

PROFESSIONAL & HIGH QUALITY

DS-1 M2kt

odls =T
A
7_‘7" U?ﬁ
T
1EH £ ME 1EH £ ME 1BH £ ME
e D12~ 32 : $ (SEHRRIE ) N -~ -
1 HmE 40 ~ 100 : $BA 4 6 FEEO0% NBR 11 TRERR S45C SERESE I AEIE
2 C BUiIR EE 7 BhiEE A NBR 12 S T
3 BBEOS NBR 8 ] wEd
4 phiEE H NBR 9 | IEZHE NBR
5 R mae 10 | mm | O13%2 B(MREE)

DS-1RD / DS-1RN" Mgkt

@ DS-1RD @ DS-1RN
@eE®E®®E® @ Q (D@ (19
TR 77
I’ T LH
Pﬁ\r = ﬁ ( AAT 2T 2 ’
b (=" Y A Y et ) J ”@tj
[ A [ A =
T n T n
T =
HH %18 & EIE! %18 & HH %15 &
1 AEEHE NBR 6 EE e 11 AIFARIEE A POM
2 mg |2 BERRR) 7 wesos NER 12 | WEME | R (SRR
3 N Fi=iey 8 C BUNIR B 13 1RE A
4 FiEE A NBR 9 | EELRET sAEE
N 2 =] ®12N32:§ﬁ](§0§§§}ﬁ}¥)
5 | EEO% NBR 10 | EEE 40— 100 : s

® 45-02



wasAgs W TorAIr

PROFESSIONAL & HIGH QUALITY

DS-1/DS-1R B2EENESNS) A+1712
ORE ©®12~ 16 B1 c+1R2
S P3 P3
Usds® (T1) P4, P4
— —
= | > | N -
g o 5 8 ﬂ@\*é@%
\
‘ W N1 \ N1
21 Py R W
<
F G 2-0
QK& ®20~ 100
D
S R P3 P3
U x45° T1 _Fi‘l f’_4_
& LS
N @ ele
N 11
W N1 N2
— e 2-0 5
4-P1 Ki R E 2EE e
B1 C+17#2
A+ 1712
IEAERY PR By N1 N2
A B1 ¢ A B1 [¢ D E F ¢ K1 - M S=5 | S>5 | S=5 | S>5
22 5 17 32 5 27 - 6 4 1 M3x0.5 102 | 238 75 5
24 55 | 185 | 34 55 | 285 - 6 4 15 M3x0.5 11 2.8 8 55
25 55 | 195 | 35 55 | 295 | 36 8 4 15 M4x0.7 13 2.8 9 55
27 6 21 37 6 31 42 10 4 2 M5x0.8 17 2.8 9.2 55
315 7 245 | 415 7 345 | 50 12 4 3 M6x1.0 22 2.8 9 9 6.5
33 7 26 43 7 3 | 585 | 12 4 3 M8x1.25 28 2.8 95 75
37 9 28 47 9 3 | 715 | 15 5 4 M10x1.5 38 2.8 10.5 10.5
41 9 32 51 9 42 | 845 | 15 5 4 M10x1.5 40 2.8 9.5 12 95 11
52 11 41 62 11 51 104 20 6 5 M14x1.5 45 4 115 | 145 | 115 | 145
63 12 51 73 12 61 124 20 7 5 M18x1.5 55 4 16 20.5 16 20.5
A5 o P1 P3 P4 R S T1 T2 U Y w X Y
HE
D12 |M5x0.8| 58 : ©6.5F : M5x0.8 387, : ®4.2 12 45 — 25 | 162 | 23 1.6 6 5 — -
D16 |M5x0.8| 58 : ©6.5 5 : M5x0.8 3B 7L : D4.2 12 45 - 29 19.8 | 28 1.6 6 5 — —
®20 |M5x0.8| 58 : ©6.5 5 : M5x0.8 3B 7L : D4.2 14 45 2 34 24 — 2.1 8 6 11.3 10
®25 |M5x0.8| 58 1 8.2 F : M6x1.0 B : ®4.6 15 55 2 40 28 — 3.1 10 8 12 10
®32 | PT1/8 | 8 : ©82F : M6x1.0B7 : 4.6 16 55 6 44 34 - 215 | 12 10 18.3 15
D40 | PT1/8 | #58 : ®10 7 : M8x1.25387. : ©6.5 20 75 6.5 52 40 — 2.25 16 14 21.3 16
®50 | PT1/4 | 8 : ®11 5 : M8x1.25 387 : 6.5 25 8.5 95 62 48 — 4.15 20 17 30 20
D63 | PT1/4 | 8 : ®11 5 : M8x1.25 387 : 6.5 25 8.5 9.5 75 60 — 3.15 20 17 28.7 20
®80 | PT3/8 | g : ©14 F : M12x1.7587FL : ®9.2 | 25 10.5 10 94 74 - 3.65 25 22 36 26
®100| PT3/8 | 8 : ®17.5 % : M14x2 BFL : ®11.3 | 30 13 10 114 90 — 365 | 32 27 35 26

® 45-03



<@ TorAir SEEAARR

PROFESSIONAL & HIGH QUALITY

DS-1RD i :itEdsitiag) A+1T8Ex2

ORE ©®12~ 16 B1, C+fife B1 + 1712
S P3 P3
- F+17%2
Ux45° '—(—H
W M
2 R

g o s zggf%(«af IBBE
\ - \\
W N1 N1
2-P1 " 2 @Eile -1 ‘_"
A
F G 2-0

QK& ®20~ 100

D
S R P3 P3
U x45° T _Fi f’_4_ M
\ e L5 e T
] ﬁﬁ\ BEGE 3/3 132
L\% AN
— :
2 EiE
\ THE o Z0 - F+ 77
4-P1 K1RE FllG -
B1 C+17fe B1 + 1712
A+ 17R2 x2
E05% 1EAERY Pt EY E N1
R\ A B1 © A B1 © P [ssw[sw0| © G K - M 55 [ &5
12| 27 5 17 37 5 27 - 6 4 1 M3x0.5 | 10.2 | 2.8 75
»16 | 29.5 55 185 | 395 55 285 — 6 4 15 M3x0.5 11 2.8 8
®20 | 305 55 195 | 405 55 295 36 8 (S=5 A% 6.5) 4 15 M4x0.7 13 2.8 9
®25 | 33 6 21 43 6 31 42 10 (S=5 % 7) 4 2 M5x0.8 17 2.8 9.2
»32| 385 7 245 | 485 7 345 50 8 12 4 3 M6x1.0 22 2.8 9
40| 40 7 26 50 7 36 58.5 8 12 4 3 M8x1.25 | 28 2.8 9.5
»50 | 46 9 28 56 9 38 715 8 15 5 4 M10x1.5 | 38 2.8 10.5
»63 | 50 9 32 60 9 42 84.5 10 15 5 4 M10x1.5 | 40 2.8 95 | 11.8
»80 | 63 11 41 73 11 51 104 13 20 6 5 M14x15 | 45 4 115 | 145
®100| 75 12 51 85 12 61 124 18 20 7 5 M18x15 | 55 4 16 20.5
o P1 P3 P4 R S T T2 U v w X Y
HI1E
D12 |M5x0.8| 58 : ©6.5F : M5x0.8 387 : ®4.2 12 45 — 25 | 162 | 23 16 6 5 - -
®16 |M5x0.8| 58 : ©6.5F : M5x0.8 5BFL : ®4.2 12 45 - 29 | 198 | 28 16 6 5 - -
®20 |M5x0.8| 58 : ©6.5F : M5x0.8 5BFL : ®4.2 14 45 2 34 24 — 2.1 8 6 11.3 10
®25 [M5x0.8| 58 : ©8.2F : M6x1.0 BFL : D4.6 15 5.5 2 40 28 — 3.1 10 8 12 10
®32 | PT1/8 | #58: ©82F : M6x1.0 7L : ®4.6 16 5.5 6 44 34 - 215 | 12 10 18.3 15
D40 | PT1/8 | #8: ©10 7 : M8x1.25 8% : 6.5 20 75 6.5 52 40 — 2.25 16 14 21.3 16
®50 | PT1/4 | #58 : 115 : M8x1.25 87 : 6.5 25 8.5 9.5 62 48 — 415 | 20 17 30 20
®63 | PT1/4 | #58 : 115 : M8x1.25 87, : 6.5 25 8.5 9.5 75 60 — 315 | 20 17 28.7 20
®80 | PT3/8 | 58 : ®14 F : M12x1.75 387, : ©®9.2 | 25 10.5 10 94 74 — 365 | 25 22 36 26
®100| PT3/8 | 58 : ©17.5 % : M14x2 5@FL : ®11.3 | 30 13 10 114 90 — 365 | 32 27 35 26

® 45-04



ssnEgEn o TP A

PROFESSIONAL & HIGH QUALITY

DS-1RN R DE: Gy EiNE NS A+ 4712 x 2 + SHRETTRE
ORE ©®12~ 16 Bl C+fiie
S P3 P3
- 1712 Q+ THTE
Uxds® ,J_)_,‘
-
©
F G 2-0
@R ©20 ~ 100
G
D
S R P3 P3
U x45° T1 .P_‘l f’i J
M
Ik i A
» 33 WD 3 3
\\
il /
W _ [N 2.0 N1 _ .
4P Ki R E 2 EiE fle 1712 Q+ AT
B1 C+17%2 B1 + 1772 ‘
1
A+ 1712 x2 + FARITRE
Bt R By E N1
€ A B1 © P Is= 10] s>10 F G J K1 - M 55 [ =5
17 50 5 27 — 6 4 1 4 M3x0.5 | 10.2 2.8 75
185 | 525 | 55 | 285 - 6 4 15 4 M3x0.5 11 2.8 8
195 | 575 | 55 | 295 | 36 | 8(S=5RF6.5) 4 15 5 M4x0.7 13 2.8 9
21 65 6 31 42 | 10(S=5R%7) 4 2 6 M5x0.8 17 2.8 9.2
245 | 715 7 345 | 50 8 12 4 3 6 M6x1.0 | 22 2.8 9
26 75 7 36 | 585 8 12 4 3 8 | M8x1.25| 28 2.8 9.5
28 83 9 38 | 715 8 15 5 4 11 | M10x1.5| 38 2.8 10.5
32 87 9 42 | 845 10 15 5 4 11 | M10x1.5| 40 2.8 9.5 11.8
»80 | 94 11 41 104 11 51 104 13 20 6 5 13 | M14x1.5| 45 4 115 | 145
®100| 105 12 51 115 12 61 124 18 20 7 5 13 | M18x1.5| 55 4 16 20.5
B P1 P3 P4 Q R S T1 T2 U \Y; w X Y
HE
D12 |M5x0.8| 58 : ©6.5F : M5x0.8 387, : ®4.2 12 45 13 - 25 | 162 | 23 1.6 6 5 - -
®16 |M5x0.8| 58 : ©6.5F : M5x0.8 3B, : ®4.2 12 45 13 — 29 | 198 | 28 1.6 6 5 - -
®20 |M5x0.8| 58 : ©6.5F : M5x0.8 387, : ®4.2 14 45 16 2 34 24 - 2.1 8 6 11.3 | 10
D25 [M5x0.8| H#58 : 8.2 F : M6x1.0 387 : ©4.6 15 5.5 19 2 40 28 - 3.1 10 8 12 10
®32 | PT1/8 | #58 : 8.2 F : M6x1.0 3B7L : ©4.6 16 5.5 21 6 44 34 — | 215 | 12 10 | 183 | 15
D40 | PT1/8 | 58 : ©10 5 : M8x1.255@% : ®6.5 | 20 7.5 21 6.5 52 40 — | 225 | 16 14 | 213 | 16
®50 | PT1/4 | #58 : ©11 7 : M8x1.25@% : 6.5 | 25 8.5 21 9.5 62 48 — | 415 | 20 17 30 20
®63 | PT1/4 | 58 : 0115 : M8x1.25387FL : P65 | 25 8.5 21 95 75 60 - 315 | 20 17 | 287 | 20
®80 | PT3/8 | #8 : ®14 % : M12x1.75i@FL : ®92 | 25 | 105 | 24 10 94 74 — 365 | 25 22 36 26
®100| PT3/8 | #8 : ®17.5% : M14x2 @7 : ®11.3 | 30 13 24 10 114 90 — 365 | 32 27 35 26

® 45-05



< Tor AIrr

PROFESSIONAL & HIGH QUALITY

DS-1/DS-1R/DS-1RD / DS-1RN R siNEista

B2
E
H F
K2 J
N
o >i @
© e L
o
L/
| &
W I
2 HiE M
Ekid
ST B2 E F G H I J K2 L M v w
»12 17 16 4 1 10 8 4 M5x0.8 10.2 2.8 6 5
®16| 175 16 4 15 10 8 4 M5x0.8 11 2.8 6 5
®20| 205 19 4 15 13 10 5 M6x1.0 13 2.8 8 6
»25 23 21 4 2 15 12 6 M8x1.25 17 2.8 10 8
»32 25 22 4 3 15 17 6 M10x1.25 22 2.8 12 10
40 35 32 4 3 25 19 8 M14x1.5 28 2.8 16 14
»50 37 33 5 4 25 27 11 M18x1.5 38 2.8 20 17
D63 37 33 5 4 25 27 11 M18x1.5 40 2.8 20 17
®80 44 39 6 5 30 32 13 M22x1.5 45 4 25 22
®100 50 45 7 5 35 36 13 M26x1.5 55 4 32 27

® 45-06



